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Step 2 Unit change: 1=>3 i - jon: = =
P 9 Step 3 Allow ONE atmospheric SW-absorption: SAA = 1, SAS = 2 Step 4 Unit change:3 =>9.

Deducing EAMZ Solar Absorbed Surface, SAS = 6; greenhouse effect G = ULW — OLR = 6.

from the Maximized Heat Trapping Model
Step 1: SW-transparent, LW-opaque, non-turbulent
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S0 A orbed Surace (SAS) Sl goes nto O S UEW S oLR S Solar Absorbed Surface (SAS) = 3 goes into G = ULW — OLR = 3 Solar Absorbed Atmosphere (SAA) = 1, Solar Absorbed Surface (SAS) = 2 SAS (6) = G (6)
Step 5 Allow ONE unit of partial atmospheric LW-transparency ... Step 6 ... introduce ONE unit of cloud blanketing effect ... Step 7 ... and close the balance with turbulence. TOA Outgoing Longwave Radiation, all-sky 9 = 3 + 6 UNITS |
Atmosphere: E(SFC) + 2 UNITS = 21 = emitted up (8) + down (13)
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1:': :A; 5 E(ATM, all) = SAA + SH + LH + LAA = CTS(all) + DLR(all) = 21 = E(SFC) + 2LWCRE
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(Hl) (L) Gasdid)’ - W) E(SFC, all) = SAS + DLR = SH + LH + ULW + EEI = 19 + EEI = 20LR(all) + LWCRE + EEI

Source: Wild et al. Clim Dyn (2015) Loeb (2015); Each value far within the noted range of uncertainty, Amax = 2.6 Wm# (NET ATM).
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